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Subtracting a 1-digit from a 2-digit number
Sheet 1
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88 - 8 = 55 - 3 = 21 - 9  = 83 - 7  =

75 - 5 = 39 - 5 =

Part A

62 - 2 = 15 - 4  = 73 - 7  = 42 - 7  =

78 - 5 = 46 - 5  = 14 - 6  = 13 - 6  =

Part B

45 - 6  = 21 - 7  =

45 - 2 = 117 - 5 = 61 - 2  = 142 - 6 =

48 - 6 = 146 - 4 =

69 - 6 = 187 - 3 = 25 - 8  = 115 - 8 =

76 - 4 = 135 - 2 = 62 - 4  = 133 - 5 =

33 - 5  = 161 - 4 =
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Challenge

  -     = 30.     is a 2-digit number.     is a 1-digit number.     has the same units digit as    . 
Find 3 different ways to make this work. 


